oS = X=-|
Wl@){ C"F"D
%,m (0-2)
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Chapter 5 — Putting it all together Name: &M

/

=x*+2x-3
/X*l-‘\()(-ﬂ\

For the equation above, graph the

equation & label the following on the

graph.
- Axis of Symmetry (1pt) o~

Vertex (1pt)
/(=D

y — intercept (1pt)
X — intercepts (1pt)

y -|-2-3
= U
Correct graph is worth 2pts (0 -\~ =4

Find the discriminant and state what type and how
many solutions. (Discriminant = b’ - 4ac) (1pt)

q-a(DC-2) 2R
d 412 =t

Use the quadratic formula to find the solutions.

= b2 b? - dac (Ipt)
2a

,;M\m(

A€ 2 UB

Xzt =

Solve the equation using factoring.

(X%)(x\\) 5

{ X= -3
34

\\.__/‘_

—

?fmf‘

(0,-3)



Correct graph is worth 2pts

y=2x*+4x+5

For the equation above, graph the
equation & label the following on the
graph.

Axis of Symmetry (1pt)

Vertex (1pt)

y — intercept (1pt)

2 (-1%+ul

X' ;2(»13 @
V(-4 »y

) -

Ut (0. )

Find the discriminant and state what type and how
many solutions. (Discriminant = b’ — 4ac) (1pt)

—u (M) :
'uhp—‘fo z -2y A0

Use the quadratic formula to find the solutions.

- bt \b? - dac (1pt)
2a

Y= ~uEe —a () (5'\

Describe the relationship between your
solutions to quadratic formula and what
you see for your graph. (3pts)

So\uubﬂ“‘”\a o
Qj,w\,\omx and
Mg 15 Shown
on the
u. with

QL2
(24 X= -4 24T \(~ citehCepls
N i
Oy
5@ Xz -4tailv

L.f.
X=2 400
A



